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1. HFEH G HETR HeASh @il Sver Jar Saive 7772

(1) A, Eh @) e Rew

(3) W F9Iaud (4) g e

Which leader is not belong to All India Trade Union Congress ?
(1) N.M. Joshi (2) Lokmanya Tilak
(3) Lala Lajpatrai (4) Mahatma Gandhi

2. ‘T vgdeh wiveh 29 wge e @6 2
. we R T ageh AR SfAERned S .
9. Hfaw @i sew dee TEs e 2o,
%, WEYAE I T FgeEh ugm fifvae o,
T. Vi AT guTOn .
gt 3
(1) w3 (2) BRI AMIT (3) TRFAMME (4) BHAE
Which are the two main characteristics of ‘permanent’ settlement ?
a. To transform all landlord and recovery officers into landlords.
b. To deprive the conventional rights on the land.
c.  To fix the structure of the revenue tax collection and recovery system.
d. Toimprove the agricultural techniques.
Answer Options :
(1) Onlya (2) Onlyaandb (3) Onlycandd (4) Onlyd

8.  FIV FEUHER TS FHIR HEIAHT BRI A=gar sy amreft ?

(1) sfEa ¢ yhem ofae, 1926 (2) feEm aw ofwe, 1923

(3) 3T Faed ofwe, 1922 (4) sfeaa Faelt afae, 1911

By which act legal recognition have been given to Indian Labour Organisation ?
(1) Indian Trade Union Act, 1926 (2) Indian Mines Act, 1923

(3) Indian Factory Act, 1922 (4) Indian Factory Act, 1911

4, VR U WA 3.9, 1886 T FHOEAl AR H HI0 FA 7

(1) s B (2) 3Feg A

(3) ZErg st (4) FgER Tl _

Who was the President of Indian National Congress in 1886 held in Calcutta 7
(1) Firozshah Mehta (2) Abdul Aziz

(3) Dadabhai Naoroji (4) Badruddin Tayyabji

FoeT PTATS ST | SPACE FOR ROUGH WORK P.T.O.
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5.  SPem dwaw A @ den vl 9 e v el Bt ?
(1) w37 Tm, 1884 (2) TrEd A0S, 1885
(3) Hwweg def, 1884 (4) W TS, 1885
Who and when established Indian National Union Organisation ?
(1> A.O. Hume, 1884 (2) Dadabhai Naoroji, 1885
(3) W.C. Banerjee, 1884 (4) M.G. Ranade, 1885
6.  TERIGIG ARs-eh SAOT=A] B FIven 9841 T e Bk 2
¥ S s q.  SFHT TiaEw neal
®, WA EEE ES U G
it 3w
(1) %9 o 2N 9 (2) Had A, § M &
(8) A, 9, FMUS (4) $HA S
Which were the institutions in Maharashtra established for the social welfare ?
a. Bombay Association b. Deccan Prantastha Mandali
¢.  Prarthana Samaj d. Yugantar Samiti
Answer Options:
(1) Onlyaandb (2) Onlya,bandc
(3) a,b,candd 4) Onlyd
7.  Siward) videed gt an gursh werean aef e,
A, FoaEieeh A A
¥. WRd 9% 69 - A TBFST MEA
%, o ad - Tedue wm e g2 fage Tosh R
g awwalgmfo - waash
it S
(1) wrad AW (2) FRANMIET Q) $AF 4) wH T
Which of the following ‘Sangha’ was established by whom for upliftment of Dalit’ ?
a. Satyashodhak Samaj - Mahatma Phule
b. Indian Servant Sangha - Hon. Gopalkrishna Gokhale
¢.  Dalit Sangh - Depressed Class Mission Maharshi Vitthal
Ramji Shinde
d. Social Service League - N.M. Joshi
Answer Options:
(1) Onlyaande (2) Onlybandd (3) Onlyc (4) Onlyd

T HTAIST SN | SPACE FOR ROUGH WORK
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ARara e & sl & 3 g

¥, wrarda Gy assEr=T o, tadr @ TRl tgmay s
q.  mioid Feaaqs® B 9 7 fFaia Sl

®. WAl S0 WOE SgEET @ HITeo),

3. SHNREE Wigad i H,

" 1 s
(1) % A (2) Fadd 3 SH® (4) wH  HF

Which was the aim of the Britishers to establish the Railway in India ?

a. To conserve the Britishers imperialist’s economical, political and military
co-relations.

b.  To internal supply and export the goods.
c.  To fulfil the expenditure of British Government in India.
d. To make a capital for trade and business.

Answer Options :
(1) Onlya (2) Onlyhb (3) Onlyec (4) Onlyaandb

9, Huidie Aol waeH s aid e wiven aeft i e And smifeae @
TUeT T495 el ?
{1) 18786 (2) 1880
(3) 1881 {4) 1885

When did the mill owners in Mumbai establish the Bombay Mill Owners Association
after realising the seriousness of the situation ?

(1) 1876 (2) 1880
{3) 1881 (4) 1885

10. GAf dfigeaa = e
(1) g TS (2) T EEH
(3) TEHelw TE| 4) Fga fir
‘Dinmitra’ was started by
(1) Shahu Mahara] (2) Dr. Ambedkar
(3) Mukundrao Patil (4) Vitthal Shinde

- ool HTATATG ST / SPACE FOR ROUGH WORK P.T.O.
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11.

GrfeE Fiv fagm gere an? ?

(1) feearn siafy wedtg gl oiwer 24 3iTee, 1946 Ut wel Bidl.

(2) 2 e, 1946 Tt Age=an Agamael Saft awwren oufedt swe.

(8) 26 AR, 1946 VT dsgd 9 Geol ohiren Siohim aweraed v,

(4) Wi e 9 fgdsy, 1946 If woew wigedt dodhion geetin #fin g9 Jegdl.

Which one of the following statements is not correct ?

{1) The first Interim national government was announced on August 24, 1946.

(2) On October 2, 1946 the Interim Government headed by Nehru was sworn in.

(3) On October 26, 1946 Wavell brought the Muslim League into the Interim
Government.

(4) The Muslim League did not attend the first meeting of the Constituent
Assembly on December 9, 1946.

12.

WA Gi9um F9fS Gona avehi=d STRINCN 27ea8 T B ?

(1) sl H.om A= (2) TER %A

(3) VIETEENS e (4) .= gyeEt

Who headed the fundamental rights sub committee in the Constituent Assembly of
India ?

(1) Dr. B.R. Ambedkar (2) Sardar Patel

(3) Jawaharlal Nehru - (4) J.B. Kripalani

13. -

arefia faurd faawe =

. oeaEEET 91 weE W USaHead sAarET! oA o,

T uifife Fereels 8T Wit JoIoEs AR (Sa9aT SH=8g - 29 9= Tam
A TR,

*.  HTET G B ATHET W] ARIES) ST B IR dHEY gl

B UM O R ARG S SHEEE 20§ W R Fiad, 1951 SER W S g
ATEl.

FhALHT FTort fagr e TR 2
(1) S &, ST & (2) wFad, H AN
(3) %&d A, 9 AT 3 (4) wad A, F T8

Consider the following statements :

a. The term ‘minority’ has been defined in the Constitution of India.

b.  Article — 29 grants protection to both religious minorities as well as linguistic
minorities,

c.  Right to conserve the language includes the right to agitate for the protection of
the language.

d. The political promises made for the conservation of the language does not
amount to corrupt practice under the Representation of the People Act, 1951.

Which of the above statements are true ?

(1) Onlya bande (2) Onlyb,candd

{3) Onlya,bandd {4) Onlya,candd

ol STTATS! STATT / SPACE FOR ROUGH WORK
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14, R GEeen ToagEe e e wE woemE sl o BRl tea ovft faRd saen

et wfgs 2
(1) F5uR & T (2) I foFar afers Ty
(3) TeatiEn SIRE Tsd 4) 2/3T=

If the parliament want to make a centres law on a matter fall in State List, how
many states have to make request to parliament ?

(1) Minimum one state (2) Two or more states
(3} More than half states (4) 2/3 states

15, WIS IV FHECAT FEe1 150 AMIhT A Tl 349 ?
(1) e FEE
(2) Al fawas wHg
(3) UHA HiS T I AOTH GEAWHE WA
(4) IR HEE TG
One can file the public interest litigation regarding which one of the following ?
(1) Landlord-Tenant cases
(2) Cases regarding service matter
(3) Admission to Medical College and other educational institutes
(4) None of these

16. Wi B fgEA SR AR ?
A, W TS I — 15 % STy Aies S WA 319 AT S95e AR,
¥, O TN AR - 16 R Fa= WA IMRETE 399 oTR.
H. WA Teawedd AedT — 21 wiedty amfie anfor bt deie Wi st Sreey
2.
ot IwW

(1) Yed A (2) TN F (3) HHH 4) #, FAMFH
Which of the following statements is/are correct ?

a. Article — 15 of the Constitution of India is available to both citizens of India
and the foreigners.

b.  Article — 16 of the Constitution of India is available to the citizens of India only.

c. Article — 21 of the Constitution of India is available to both citizens of India
and the foreigners alike within the territory of India.

(1) Onlya (2) Onlybandc (3) Onlye 4y a, bandc
FoeqT HHATS! PN | SPACE FOR ROUGH WORK ' PT.O.
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17.  O9TAT 9Nl ATiHE araater WS St s gl geoft W
g, “_ anfew dafegpmeam” L sd ke

4, “onfle gEdie gAwEg” I #tw g

% “amias R o Q@ Yo @ 1L %, vftewt

T W saatd ) IV. il snfees
HOEETA faams qa

et 3ot ;
R = & T

1) 1I 111 v 1

(2) 1 1I III v

{3y 11 v T IT

4y Iv I I 111

Match the comments and commentators on ‘Directive Principles of State Policy’.

a “ they have at least educative I Allen Gledhill
values.”
b. “Socialism in the economic sphere.” II. B.N. Rau

¢. “Aimed at furthering the goals of the IIl. K.M. Panikkar
social revolution

d. “__ the affirmative instructions IV. Granville Austin
to the Govermment, to do certain

things

Answer Options:

a b c d
(1) 1II 111 v 1
2) 1 I I v
(3) II v I II
4 IV 1 I HH

SO ST ST / SPACE FOR ROUGH WORK
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18. woie fym REma e

1. Wdg Toages Faermmet Tl At Tt R S o

7. fgmle e 30 GO0 At Titwe gdtE R e e,

it I
(1) oA, I (2) Taum 1 9%, 9 FUE
(3) i faur se @) AR foad =

Consider the following statements :
a. The Constitution of India, like that of Canada, has adopted the system of single

citizenship. :

b. The other federal state like Switzerland, adopted the system of double
citizenship.

Answer Options :

(1) Statement a is correct, b is false (2) Statement a is false, b is correct
(3) Both the statements are correct (4) Both the statements are false

19. WBRI U4 Faev@ srRrmfavdi«ht s faum Tea emga ¢
A, FENTS WA 1995 T Fed.
q. TS g3uTe STER ST,
% I e TEoea grd=m Ragr e,

T AEITSAT ST THUE U9 FUA.

vaidft Im ¢
(1) HIdd, & M€ (2) %99 3, A A %
(3) THA, U (4) ®&d 3, & AT

Which of the following statements about the Maharashtra State Election
Commission are correct ?

a It was established in 1995.
b. It has a constitutional basis.
c. It conducts elections to local bodies,

d. The State Election Commissioner is appointed by the Governor.

Answer Options :
(1) Onlyb,candd {2) Onlya,bandc
(3) Onlya,bandd (4) Onlya,candd

FHoeg] FHITEE ST | SPACE FOR ROUGH WORK P.T.O.
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20. Qoo wvea AaT HEEH] e SEHAT HRATGEl FUl I g ?

FA. TuREE

q. TSI OROTS! Ariesh aw

%. HagR |gre wRefia

3. HEd g

i onfar &= wwes

it I

1 HA,8,F

2 #€,%3

3) 4,73,%

(4) A, 9, %,

Which of the following matters on which amendment is possible only by the ‘simple

majority’ of the Parliament ?

a. Citizenship

b. Directive principles of State Policy
c.  Delimitation of constituencies

d. Fundamental Rights

e. Administration of tribal areas
Answer Options :

(1) ab,c

(2) a,ce

3) b,de

(4) a,b,ed

T HHTETS! TN / SPACE FOR ROUGH WORK
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21. 74 =N TIAIGE WG WEe faum fasme w=m
¥, TROIRRET A e a8 AR A HrEiee el UF aveql AW g1 Fagush
=it A,
it Fo famA eV R/anga ?
(1) s (2) H N (3) wHN (4) FURE A
According to 74P amendent consider the following statements :
a. Nagar Panchayat can be established for areas in transition from a rural area to
urban area.
b. Fixed tenure of five years for the municipality and re-election within one year
at the of end of the tenure.
Which of the statements given above is/are incorrect ?
(1) aandb (2) Onlya (3) Onlyb (4) None of these
22, Owmffi % onfde A= o I ama. e
1) I Wrafiwar 3o el (2) I= s var sl TR
(3) Wum TAT qvATq AT (4) e T T
Employment generation was one of the objectives of economic planning. It was
(1) Accorded a high priority (2) Never accorded a high priority
(3} Given prime status (4) None of the ahove
23, wEk Fue foawm un

3. R Bl 3 guew snfle P om.
. R Paem 3 R e o,
%, vl P 2 Rl tes s,
affeteh o foum/A st sm/amRa 7

(1) TRAANET (2) Tmaaftis (3) s@AATE (1) b gd

Consider the following statements :

a. Indian planning is indicative economic planning.

b. Indian planning is physical planning.

¢. Indian planning is financial planning,

Which of the statement/s given above is/are correct ?

(1) Onlyaandh (2) Onlybandc (3) Onlyaandc (4) Allofthe above

Foedl FTATS! SIRN | SPACE FOR ROUGH WORK P.T.O.
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24, |3 2009-10 wdid ufE AT el (NSS) =0 66 = WqER am ferdt Stem
(TwmEra) TEa weT T e @i S Usad S (2 §9Ht) Hata

i Agfaen fen ?

A T q. TeRUE

&, HE T g HEWw

Rt I |
(1) wa A (2) HFd® (3) BFAFBMMIE (4) FH S

According to usual status unemployment (adjusted) as per the NSS 66t — Round
2009-10, in which of the following state/states is the unemployment rate (per 1000)
shown lowest in rural areas ?

a. (ujarat b. Rajasthan

¢. Madhya Pradesh d. Maharashtra

Answer Options :

(1) Onlya (2) Onlyb (3) Onlycandd (40 Onlyd

25. @ fayr faew .

g Wat A,

A T W "G I RS m SFh o Sty W wrelta sgEa srdanrdian
YT el 4.

F, M A IS SIREA W Wl d8W oA SN ST Ioe W e gl
faett sma.

aliedet Bru/d foumA st amR/emga 2

(1) FTHRHIAAMT (2) STRAITMNF (3) STH A AW T (4) Jha ad

Consider the following statements :

a. Integrated rural development programme aims at raising families above the
poverty line by creating sustainable opportunities of self employment.

b.  In Jawahar Gram Samridhi Yojana preference is being given to SC/ST families
below the poverty line and physically challenged persons.

¢. Ganga Kalyan Yojana provides irrigation facilities through groundwater
sources to small and marginal farmers below the poverty line.

Which of the statement/s given above is/are correct ?
(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above

FHOET FHTHTATS! STA / SPACE FOR ROUGH WORK
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26. 78 YAGE A1 HEMId Wikiierdeh! Hiora faem/faum st ama/anga ?
A, WNE TERA 1993 well yifior fepreeRRar 73 = wetgetn oy e
F. 73 A AIAGRAIIHT Y U 61 o sEieea 19 Rm/gesian gaew s
AT,
At I

(1) w7 A (20 ANMITHE (3 W H (4) TN =l 7@

In the reference of 73™ constitutional amendment which of the following statement/s

is/are incorrect ?

a. In 1993 Government of India took the decision about 73™ constitutional
amendment for rural development.

b. 73" constitutional amendment added 19 more subjects/contents in the
functions of Panchayati Raj.

Answer Options :

(1) Onlya (2) Bothaandb (3) Onlyb (4) None of the above

97, QEIH S 9

7z 3 Zq

A FfEE IR gF ST 1. 3fsdE=w, 2005
¥, HONdTE e 200 €99 SR W4T aigeE SUREET gEad 1L 23 ', 2013
F. T TR Sy e geaw et III. 2 %, 2006
3. SR AEE U YR v e geam et IV. 334, 2011
Tt I

'} T ® S
(1) 1 I1 II1 IAY
2) IV ITI IT I
@) I IT I IV
4) 1I IV I1I I
Match the following :

Group A Group B

a. Aajeevika formally launched I. 3" December, 2005

b. MGNREGA initial implementation in selected 200 I 23" September, 2013
most backend districts

¢. National urban livelihood mission launched I11. 2" February, 2006
d. Jawaharlal Nehru National Urban Iv. 3 June, 2011
Renewal Mission launched
Answer Options:
a b c d
1 I II IT1 v
2) IV III IT I
(3) II II I IV
4) 11 v ITI I

FHredT PITSE AR / SPACE FOR ROUGH WORK P.T.O.
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28, UEqES Il IR FIOIME B 9T YT AT 3EG),
A, HAifq smam

q. g whdge

%, UM e aitee

it I ;

(1) & A 2 =auus

3 AaMF (4) 0 fo=d

Agencies involved in five year plan formulations are :
a. Niti Aayog '

b.  Union Cabinet

¢.  National Development Council

Answer Options :
(1) Onlya (2) aandb
{(3) aande (4) All the three above

29. WRIT fFeeM geng SaRdt Foem B ¢ = TS A ofwie FERm e g
A Ideiala W e g ?
. g i
9. |IHY oM A
®,  UESHS oo s guHtem

5. At s wdGee

it I W ;
(1) a1 i = (2) = anfr=
(3) o, A H 4) e a@

The time bound ambitions social objectives indicated under S* five year plan
emphasized which of the following Basic Minimum Services ?

a. Safe drinking water

b Tef'tiary health service

¢.  Streamlining public distribution system

d. Universalisation of secondary education

Answer Options:

(1) aandb (2) bande
(3) a,bande (4) All the four above

T FTRATA SIFT / SPACE FOR ROUGH WORK
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30, awhor wrma wedt gfasm gfae (PURA) wfmmmed wreuht fammE duaE aeieh
gt
(1) s (2) Tesfiea (3) s (4) WIS
connectivity was not considered in PURA Model.
(1) Physical (2) Digital {3) Economic (4) Social

31. el ST WREeET TRE gl e Afmesrd s 2
¥, TEREHT W TaauE

¥, TIRAET SR
&, e sga
it IW

(1) S (2) A (8) w ¥ Il ® (4) At T A
Which of the following explains the feature/s of infrastructural development of
India ?

a. Heavyinvestment by the government

b. Bias in favour of the poor

¢. Bias in favour of the rich
Answer Options:
{1) Onlyc (2) Onmnlya {3) Onlyaande (4) None of the above

32. WRdN dRge G Gretd faum fam @
. AN 99 WIS 17 B o one,
¥,  Oq WRAH FEHATE GEaw 2016 HEY e,
F. oo TENETYY Taragd A0 AEWR WATerE fasmft e el warer
T 2012 TEA FIEA.
T, YRAW 12 W@ S 3.

FiANR Fo A= i e ?
(1) % H, F M F (2) B, FIAMNE
(3) B 3T, T M (4) $F9 A, F AN S

Consider the following statements regarding Indian Transport :

a. The Indian Railway Network is divided into 17 zones.

b. The Setu Bharatam programme was launched in 2018,

¢. The Ministry of shipping was formed in 2012 by bifurcating the erstwhile
ministry of shipping road transport and highways.

d. India has 12 major ports.

Which of the statements given above are correct ?

(1) Onlya,bande (2) Onlyb,candd

(3} Onlya,bandd (4) Onlya,candd

Trocql BT ST / SPACE FOR ROUGH WORK P.T.O.
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33.

16 A

NHDP =7 584 3= Zai= qgEm siavantt ang, PMGSY <1 @9y omfiv @ srgvansft ang @
PMBJP <! @1 #ft om.

(1) TSI HEmm ey

(2) iw swm

(3) urHivT vt wETATTIE SAew

(@) Ta e T TEmE e

NHDP deals with building high quality highways, PMGSY deals with rural roads
and PMBJP deals with

(1) Construction of state highways

(2) Generic medicine

{3) Liking up highways to rural roads

(4) Linking up state highways to national highways

4.

grefta fave T o

A T T famm A Y e Foe e anfn armEm glamdia e 2 v
Higfaward I efl,

¥, ft ToEn 200 9T feR sl

®. T an faem Qe € g e At T R et st SR 2.
Tl Fv fra ster anga ?

(1) wFF H oMU & (2) WA A H

(3) wFG A A & (4) O @&

Consider the following statements :

a. Rashtriya Sam Vikas Yojana was introduced to address the problems of low
agricultural productivity and gaps in infrastructure.

b.  The scheme covered 200 backward districts.

¢. Rashtriya Sam Vikas Yojana to support the development initiatives in
backward states and regions.

Which of the statements given above are correct ? _
{1) Onlyaandb {(2) Onlybandc
(3) Onlyaandc {4) All of the above

HEAT HITAS! ST | SPACE FOR ROUGH WORK
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e fam = o

¥, TETEETe TEE U wgh guwan Aitae 3 fsdet, 2005 A gE e

8. afime IRE weUde TEng dare wicdie e 3T ¥ AR,

F. T IGEARAATIT IH AAM gE9NE 9 @erft Weiigra widn giaw onfor qoae awen
SR o frar atier angg ?

(1) ¥ 3 Ffr 5 (2) wH A AT

(3) wadq A ® (4) b= ot

Consider the following statements :
a. Jawaharlal Nehru national urban renewal mission has been launched on
grd December, 2005.

b.  The objective is to focus attention on integrated development of infrastructural
services in the cities covered under the mission.

¢.  Under this mission eligible sectors include : Parking lots on PPP basis and
development of heritage areas.

Which of the statements given above are correct ?
(1) Onlyaandc (2) Onlyaandb
(3) Onlybande (4) All the three mentioned above

36.

wreite foum foremra = -
., @ AR AFRENE duaT T R g gEe AR,
d.  Ree WRAN STHEEIA 33 wiaT we sriseai Fid e amR.

F. TERUTE W 6EE T U A A9 Rl SAnTdia few SRl srehrEmht
T uF HEr .

lierdehl v faan ss) amed ?
(1) Sd F for & (2) &I H AM®
@) wsAMSE 4) b= wd

Consider the following statements :

a. All India Radio’s motto is ‘Bahujan Hitaya : Bahujan Sukhaya’.

b. AIR originates programming in 33 languages.

¢. It is one of the largest broadcasting organisations in the world in terms of the
number of languages of broadcast.

Which of the statements given above are correet ?
(1) Onlyaandb (2) Onlyaandc
(8) Oniybandc (4) All of the above

T4l HETATS! AN / SPACE FOR ROUGH WORK PT.O.
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37. @ o fomm s
A, T T T 2002 TAR THiE fGvas S e g fge o,
§.  EwrfieEr geurTet @ SRuidid W1 LUt ST 378
F. a9 gaEETE Inpams) e, faw o emmynE @ watme @eelt s

TRHTIIET &7 Gronata Sooe 29 o,
e o faum ste e ?
(1) Hea A a1 (2) FR 9 AT F
(8) waa A TN % 4) Trd fqum aw s

Consider the following statements :
a. National water policy 2002 lays greater emphasis on environmental concerns.
b. It stresses the involvement and participation of beneficiaries.

c. It encourages private sector participation in the planning, development and
management of water resource projects.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) All the three are correct statements

38, e faurd foemua =
3. 1982 9 TF TSN THISH I @A ARRad AT,
9. greud lie igen wrme $Y g2 g
F.  26W, 2015 TR Tawue ot Tz WG T & fFew @ SoisdaT Qe ge e,

Sl S faam s Hgd ?
(1) %ad R afur 5 (2) wod 9 T &
(3) wad A AfT & (4) 9 wd

Consider the following statements :
a. In 1982, Doordarshan as a National Broadcaster came into existence,
b.  Krishi Darshan was the first programme telecast on Doordarshan.

¢. Prime Minister Shri Narendra Modi launched a television channel DD Kisan
on 26 May, 2015.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4)  All of the above

el BT ST / SPACE FOR ROUGH WORK
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39, wrie faue foeme =

2005 T A WHIS ‘YA Frfor T FieEg FRiE gE e

a,

9. yRa Pt s 3R T soe qen@ gl 2o el weht T glae 3wmo
3 TN

F. 2005 - 06 T 2008 - 09 I Framadts wra Ffor Frimar=ar dfgear eoarEl smeTEsTavi
Feht gt

Fhedeh e faum s orEd ?

(1) % AU

(2) T T I

(3) a3 AN F

(4) =« wd

Consider the following statements :

a.

The Government of India launched a time bound programme namely ‘Bharat
Nirman’ in 2005,

The objectives of Bharat Nirman programme the are to build urban

infrastructure and provide basic amenities in rural areas.

Phase 1 of the Bharat Nirman programme was implemented in the period
2005 - 06 to 2008 — 08.

Which of the statements given above are correct ?

(D
(2)
3)

(4)

Onlyaandb
Only b and ¢
Only aandc

All of the above

FoedT HITHISI ST / SPACE FOR ROUGH WORK PT.O.
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40. St e v a9 after i & W9 Y A1 A e ol

37 (77 GIRT) 7 (9T I7)
¥, AT FHoA gazor it I. 1983
&, 599 9RO g 1. 1979
%, S O R e L. 1974
T S fvae HeATIR HEes IV. 1965
gaidl I

HA dq & E4
1 I II 111 v
(2) III I v 11
(3) IV I1I II I

I 11

(4) 1II v

Match the following pairs regarding expert bodies on energy planning and their year

of establishment,

A (Expert Committees) B (Estd. year)
a. Emnergy Survey of India Committee I. 1983
b. Fuel Policy Committee II. 1979
¢.  Working Group on Energy Policy III. 1974
d. Advisory Board on Energy IV. 1965
Answer Options :

a b c d
(1) 1 II I v
(2) I I v 11
3 IV I1I II I
4) 1II v 1 IIT

FTET STHIAIS! ST / SPACE FOR ROUGH WORK



41.

21 C12
ot 9 B FO e et S wfvdy et ?
(1) @, aa=. @ (2) wrefmgE e
(3) sf. W TreA (4) €. fasm s
Which of the following committee recommended Goods and Services Tax ?

(1) Dr.Y.V. Reddy (2) Asimdas Gupta
(3) Dr. C. Rangrajan (4) Dr. Vijay Kelkar

42,

Srfee SATIR weeAt et FR FR FEftE 3R ?

H. dFq F SAIRGe T FEIET FR (MAT)

9. a FURE FHEER R (GATS)

%, WfgH qugEEHiET SO F=W (TRIPS)

T Ydifaae WEAdl TR (WTO Agreement on Agriculture)
e I

(1) ed & 3o & (2) hed & AT
(3) o 3, & U ® 4 whawd
Which of the following agreements is related to World Trade Organisation ?
a. Multilateral Agreements on Trade and Goods

b. General Agreement on Trade in Services

¢. Trade Related Aspects of Intellectual Property Rights

d. WTO Agreement on Agriculture

Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlya,bandc (4) All of the above

wrelieth By framA S ok 7
3. AT sadR HEEASl AT 1 AR, 1995 TS wvam .

¥, s SR e TeTed it wite Shfveer 39 R,

ot 3w ;
(1) & A ‘ (2) wad o
(3) 13 § A (4) o TR A

Which of the following is/are correct statement/s ?

a. World Trade Organisation was established on 1** January, 1995.

b. The headquarter of World Trade Organisation is at Geneva, Switzerland.
Answer Options :

(1) Onlya (2) Onlyb

(3) Bothaandb ' (4) None of the above

AT TMTAIS AR / SPACE FOR ROUGH WORK P.T.O.
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44, Grehedh BTl TEURIE SAER TG (WTO) TR g ?

(1) .33 (2) fiwa

(3) fomm (4) = &

Which of the following is WTO agreement ?

(1) AOI (2) TRICs

(3) TRIMs (4} All of the above

45, 7 nfefer g At Garat gdterdehl Sivar Sfage gfem g ?

A, aed! e

4. fpua srfemen

% felaae

T SR AN W6

gt 39 ;

(1) woa A afor s (2) W TS
(3) a3 3T &% (4) AT 9 HMUT T

Which of the following is/are unfavourable effect on agriculture of New Economic
Policy ?
a. Reasonable Price
b.  Price Instability
¢. Increasein Export
. Entry of Multi-National Corporations
Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlyaandec (4) Onlybandd

46. T T T T (GST) Hefo@ TG Fordt 2
(1) 9sdt wETgE | (2) 994 TeTgEEd
(3) 100 HeATgEEA (4) 1014 weAgeRtt
Which of the Constitutional Amendment is related to Goods and Services Tax ?
(1) 98t Constitutional Amendment (2) 99" Constitutional Amendment

(3) 100t Constitutional Amendment (4) 101% Constitutional Amendment

FTT TS T / SPACE FOR ROUGH WORK
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47, IEERAAEN MGy - et HwEn FHey g ?

A, FEAI AGR ¥ awge

%, fm 3. TAEURh SeA

Tt S |

(1) %0 &, 93 & (2) SHa A, HAs

(3) w@E, FaAME (4) == wd

Which of the following are included in the invisible Import-Export of Balance of
Payments ?

a. Trade of Goods b. Transportation

¢. Insurance d. Investment Income

Answer Options:
{1} Onlya,bandc¢ (2) Onlya,candd
(3) Onlyb,candd (4) All of the above

48. 1990 — 91 F 2008 — 09 N FIBW WA MR drgara gt Fht Bt ?

(1) wed (2) et

(3) fér (4) afalh wd T

What was the trend of balance of deficit of India during 1990 - 91 to 2008 — 09 ?
(1) Declining (2) Increasing

(3) Stable (4) None of the above

49. MfaE d=ar ggdia A faam fae.
H. v el TATET 1944 A9 Tieht.

¥ i dea FE 99, 1946 RS gE 7.

Whﬁﬁ:
(1) BT A (2) €
(3) = a9 2= (4) FOAYR uHal TTE

Select the correct statement in the context of the World Bank

a. World Bank was established in 1944,

b. World Bank started functioning from June, 1946.

Answer Options:

(1) Onlya {2) Omnlyb

(3) Bothaandb (4) None of the above

FEEAT HPTNIST STAT / SPACE FOR ROUGH WORK P.T.O.




c12 24 A

50, fETE SANE RV UF s4R 4RO I $), SYmed AR Jiftr et o geem
(1) < Ao Icae e e At IenE A 98 helt S -
(2) 29t e Ieared it Tt wreT SeArey A S hen g AR,
(3) =R fir ST et SR WiewTed 2uft I SRS W,
(4) FlwtH T T

An outward oriented trade strategy is one in which trade and industrial
policies
(1) Discriminate between production for the domestic goods and foreign goods.

(2) Do not discriminate between production for the domestic goods and foreign
goods.
(3) Trade and industnal incentives are in favour of domestic market.

(4} None of the above

51. @ faan faame =
A, I J ey & wgEa aegrh fas v e,
¥, o Aty At fe 200 39 9w oA,
%, SO T Ff amag SeeT deie SaERa R (BOP) deamrd fif 3.

TRt Fo faum S0 TTEd 2

Tatdt I

(1) e ot anfir & (2) Hod § AN F
(3) W F AN F (4) vbagd

Consider the following statements :

a. The international Monetary Fund is a Specialized institution of the United
Nations.

b. The IMF Currently has 200 members countries.

¢. The IMF provide funds to a member country experiencing temporary Balance
of Payment (BOP) deficits.

Which of the statements given above are correct ?

Answer Options :
(1} Onlyaandb (2) Onlyband¢
(3) Onlyaandc (4) All of the above

Tl HMTAIAT ST / SPACE FOR ROUGH WORK
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52. YEIGIUsh! VAT HHGR WRA™ WhIT Wisae I ?
¥, U
9. qohbE H
%, qCh adv
qatdt I= :
(1) e 3 amfir 9 (2) Had 3 0T H
(3) & afor & (4) et wd
From which of the following sources, Foreign Capital comes in India ?
a. Donations

h.  Foreign Loans
c.  Foreign Investment

Answer Options :
(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) All of the above

53, UNdH feuatEedl S SFEE 2011 - 12 9 2013 ~ 14 T FHiSE guanndier 9¢ farsht

e Hatd At el ?
(1) vwm (2) ¥a1 am
(3) YA BRI (4) Fu

Which sector of Indian economy has attracted highest FDI equity during
2011-12t%0 2013~ 147

(1) Construction (2) Service Sector

(3) Computer Software (4) Power

54. SURAI HhcgseHTa 4 faum it
3. IR AT e ST fraid= ymo S .

. AEa SEmEee) 2ure et SRR e 9 .

Tafft 3wt :
(1) N (2) ®HEA W
(3) Aanfrs = (4) whead T

Identify the correct statement in the context of Balance of Trade.

a. In Favourable Balance of Trade, the ratio of export is higher than the ratio of
import of a country.

b. In Unfavourable Balance of Trade, the ratio of import is higher than the ratio

of export of a country.
Answer Options :
(1) Onlya {2) Onlyb
{3) Bothaandb (4) None of the above

T FIATATS! TR [ SPACE FOR ROUGH WORK P.T.O.
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55, 1992 3 2013 47 H1SW Wrard Il gz fGeufi JeavE € awe w9 faeuf qaevEhen

.
(1) =t (2) =
3 f&r (4) e T TR
FDI inflow of India was than FDI outflow during 1992 to 2013.
(1) Declining (2) Greater
(8) Stable {4) None of the above

56. qeividdh Iy faum faer,
a1, =R wH At e darome o sare @9 2015 9 2020 ade faew R g

HTER A,

9. fiula wearg@aEdl ‘Make in India’, ‘Digital India’, ‘Skill India’ I X W, T a1
VRO Sy 320 AR,

it I

(1) wad 3 (2) wad @

(3) o i & G (4) TR g T

Identify the correct statement from the following.

a. Commerce Minister Mrs. Nirmala Sitharaman announced the Foreign Trade
Policy of India for the period of 2015 to 2020,

b. The main objective of this policy is to focus on ‘Make in India’, ‘Digital India’,
‘Skill India’ for export promotion.

Answer Options:
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

57.  srawrsd A fdish wimee gdedet e stwn s i 2
7. fafme @ fotr tewmead e S,
F. dgIa IR U %O

g I .

(1) wrafra (2) & ¥ nfrH

(3) SR A A & (4) =ftawd

For which of the following objectives was the International Monetary Fund
established ?

a. To reduce prevailing exchange controls.

b. To attempt for stability in exchange rates.

c. Toreduce multilateral trade.

Answer Options :

(1) Onlyaandb (2) Onlybandec
{3) Onlyaandc {4) All of the above

T PTATATS! STRT / SPACE FOR ROUGH WORK
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58. WEHN AWK ¥ROT 2009 — 14 wafid @i fawm faemra i -
. mmwm%zommmmwmw
4. WY ANR 9RO 50 JHA TASET IRy a8 Fa SRS ASNT el
F. TR TidE Fafa Demsa A fde 2012 73 A S
Fetdt Fve fgm TR 2 ?
watdt I
(1) % N s
(2) wE F A0 H
(3) THRTAMF
(4) =0awd
Consider the following statements regarding Foreign Trade Policy 2009 — 14 :

a. The long-term policy objectives for the government is to double India’s share in
global trade by 2020.

b. Foreign Trade Policy has added 50 new markets to the focus Market Scheme.

Government has announced incremental export incentivisation scheme on
December 2012.

Which of the statements given above are correct ?
Answer Options:

(1) Onlyaandb

(2) Onlyaandc

(3) Onlybandc

(4) All of the above

59. Wi HIO T 3TF [OPEC] T HeeA=t qug 7787 7
(1) emfwTA
(2) seififin ‘
3) T
4) TId fem
Which of the following country is not the member of OPEC c¢rganisation ?
(1) Afghanistan
{2) Indenesia
(3) Iran
(4) Saudi Arabia

TEg] HHTEIS WP / SPACE FOR ROUGH WORK P.T.O.
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60. T~ THERS W@ H Aggel G Hivid ?
(1) aftrea F anfr sefls wege
(2) 5T Fowk A0 el G
() W ot Fiuel wefalia o= I Tew
(4) ol wd
What are principle sources of tax revenue of the State Government ?
(1 Cdmmercial taxes and land revenue
(2) Stamp duties and registration fees

(3) State excise duties on alchohol and other narcotics
(4) All-of the above

6l. TEIFIH ITA HUA THR HIVGYd AR/ 79 AsET

w.  JAfEF g W 3. WU W

¥, TEWES W 3. oW W
ot I

(1) %Fg 3 o = (2) wag ®anfrg
(3) wFT A ' (4) SaT A AT H

Identify, which of the following is/are the types of Income Tax ?

a. Personal Income Tax b. Wealth Tax
¢. Corporation Tax d. Interest Tax
Answer Options :

(1) Onlyaandb {2) Onlycandd
(3) Unlya (4) Onlyaandec

62. 1991 T F UTUN AN TCTET HioT i 7

(1) = . e 2 R 9T vaw

@) . w@mH @ 4 R . feee
Who was the Chairman of Tax Reform Committee 1991 ?

{1} Raja J. Chelliah (2) Shri Vijay Kelkar
(3) ShriL.K. Jha (4) Shri M. Govindrao

el FETHIS! AP / SPACE FOR ROUGH WORK
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63, FE AN A TEHH THRAT Foloqagili=l A b ey 511d ?

(1) YRE™ dayaH (2) Fi sddTe

(3) fored d aife 3w 4) @Eg

From whom the management of Public Debt of Union Government and State
Governments is done ?

(1) Prime Minister of India (2) Union Finance Ministry
(3) Reserve Bank of India (4) The Parliament

64. AT WEITE i) FEE GHEH Bl ?

. HIEERY 47 ¥, gioRE 7 s 84

%,  offde ¥ T M EE

gafh s m ;

(1) wwm AT (2) & A W H

(3) wEa A, T Mg (4) ®FA A, 9 AU H
Which of the following are Included in Civil Expenditure ?

a. General Services b. Social and Community Services
¢.  Economic Services ' d. Expenditure on Defence
Answer Options :

(1) Onlyaandb (2) Qulyaandc¢

(3) Onlya bandd (4) Onlya bandc

65. HUEN Wt IgaEr wEd wEe T e el IR 2
(1) g, vsg sl st seprh sevar
2) g, T°T anfor T T S
(3) g o vsu qrEwEl IuAErd
(4) afer 99 Whrd! IgAEd
What type of borrowings are considered as Public debt in India ?
{1} Central, State and borrowings of public enterprise
(2) Central, State and Local Government borrowings

(3) Central and State Government borrowings
(4) All above borrowings

JEeT HHTATS! ST / SPACE FOR ROUGH WORK | P.T.O.
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86. 1991 Ul T Huam e S Guwon AhFRE gun e wdaiea e
HHAY B

(1) (=TT gur
(2) Tmies-sufdw g
(3) SHIHEGEH Mo (&N
(4) T e

The process undertaken in 1991 of economic reforms consists macroeconormic
stabilization and
(1) Structural reforms

(2) Socio-economic restructure

(3) Adoption of pro-business policies

(4) Human development restructure

67. S sRmAn srewsim A Rt anfr s S M AT FEEw
el

(1) wrEats & @l S e &
(2) ¥ Frdef qoavERien waeT

(3) e waiTa Faldien dream

(4) € for wATHS THENA

LPG Model has followed the IMF-World Bank preseription of
(1) Opening of public sector to private sector

(2) Facilitation to direct foreign investment

(3) Encourage to more export

{4) Stabilisation and structural adjustment

FEET BIATA SR / SPACE FOR ROUGH WORK
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9, Drod sEees
%, TR ITEEE
it I

N q

1) I 11

(2) II I

(3) III I

4) II 111

Select correct pairs.

Column A

a. Balanced Budget

b.  Surplus Budget

¢.  Deficit Budget

Answer Options :
a b

1 I II

(2) 1II I

3) III I

(4) 1II 11

III
III
11

IL

IIL

IIL
ITT
II

II.

ITI.

3

HicTH T

AT W < TR T
ARl Wt = TRl @
T T > gl T

Column B

c12

Government Receipts < Government Expenditure

Government Receipts = Government Expenditure

Government Receipts > Government Expenditure

69,

HRATHS 39T 0 8T T 3 ?

(1) ™WuEg
(3) wfcmit

() o

(4) TOF T T

What is the nature of Income Tax in India ?

(1) Proportional
(3) Regressive

(2) Progressive

(4) None of the above

Foeg] FHRIS! AN / SPACE FOR ROUGH WORK
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70, Welw faumA fe=mE =

@1, Trafda W & IgEalE B e Fond T o,
q.  IMEitT W € TR B T HT Tt AR,

%, AeIatdd e AAASEU o TG Aihrean TEUHETT 916 0 S SRErEta I8
e,

Fieth SR e R o 2
it I

(1) a9 31 afr §

(2) 4 § AT %

(3) Had A M+

(4) w0 e

Consider the following statements :
a. The Value Added Tax (VAT) is Multipoint Tax Collection Method.
b. Non-VAT is Single Point Tax Collection Method.

¢. Implementation of VAT will improve the purchasing capacity and living

standard of the poor people.
Which of the statements given above are correct 7
Answer Options :
(1) Onlyaandb
(2) Onlybandc
(3) Onlyaandc

(4) All of the above

FeegT HHRAST N / SPACE FOR ROUGH WORK
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71, wEE e fea s

3. TSHge=A1 FaW 280 i o AR wron 0 oM.
q.  TSq"e=41 Hew 275 TR U1 Aediean Woigar AgH fieft smam.

F. TAUIoI oM 282 R TU59 GUhRAT HIUg Wt sfisemrdt o Wer &g
TN feft s,

) AV R sre STYaRA 2

it I

(1) ad A 0 «

@) TS

(3) wWd

(4) S &

Consider the following statements :

a. The Finance Commission is appointed under Article 280 of the Constitution.

b.  Article 275 of the Constitution provides for grants-in 2id to the states in need of
assistance.

¢.  Under Article 282 provides for grants by the Union Government to the State
Governments for any private purpose.

Which of the statement/s given above is/are incorrect ?
Answer Options :

(1) Onlyaandb

(2) Onlybandc

(3) Onlyb

(4} Onlyc

FOXAT WINTHTS! ST / SPACE FOR ROUGH WORK P.T.C.
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72, wEEhe faun famwd
¥, TR 2004 L2, FFE it @it Frerelors, qﬁ%aﬁwﬁ%wwﬁa
W TAH TaF 100% T FAEE R wErft i

9. THad 2004 WEd, UMM ST Wl Y@ AEUE F4IG 100% 9Hd SRR
EIHE

%, ;;mﬁwamé-mamm@v@umﬁm 80% SHUIMETS TEHT
St S/l s/ JUs sm/aEd ?

Tt I

(1) o 3 (2) e N 3 @

(3) W ¥ v & (4) T @ AT H

Consider the following statements :

a. In January 2004, the Government allowed FDI upto 100 percent in Printing
Scientific and Technical Magazines, Periodicals and Journals.

b. In January 2004, the Government raised FDI Limit to 100 percent in
Petroleum Sectors.

¢.  80% present FDI permitted for business to business e-commerce.

Which of the statement/s given above is/are correct ?

Answer Options :
(1) Onlya {(2) Onlyaandb
(3) Onlyaandc {4) Onlybandec

(1) HAEETTHA T2 + TSI TR T

(2) THRE AR T + GHERE T

(3) JTITIET T + TCHITH 44T

(4) SACTITHA (T + HHE! TR Fs F QT

Fiscal Deficit =7

(1) Budget Deficit + Government’s Market Borrowings

(2) Government’s Market Borrowings + Government’s Liabilities

(3) Budget Deficit + Government’s Liabilities

(4) Budget Deficit + Government’s Market Borrowings and Liabilities

deeq] SMTATAY ST / SPACE FOR ROUGH WORK
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74. Giehe fun e o
F,  TsAreN UIehia SHaeaTeT Rred 9 e ghear ugeEre sifien aK wed.
¥, USTAT GNR F9 ST Ted SR AEETE R (EeR 9% A sfem .
%. ot S 2% 3w auiqy ) 9@ o=y fow afvarh aur gai Adte gereaT Rt
F

et wrm fqumH st angd ?

gt 39t ;
(1) %Fa ¥ 30§ (2) ed @ iUl &
(3) FEd A I F 4) = gd

Consider the following statements :

a. The Reserve Bank of India plays a vital role in the Fiscal Management of the
States.

b.  The Important function of RBI is to help the States to raise market loans.

c¢. The RBI has been organizing the state finance secretaries forum four times a
year at its headquarters in Mumbai.

Which of the statements given above are correct ?

Answer Options :

(1) Onlyaandb (2) Onlybande
(3) Onlyaandc (4) All of the above

75.  HEgeh W ScumHe gl ST WHEY B g7 ?

¥, HYHY B a9  WUE T

F.  TEUEhrET S 3. TSNS IR
Tt I ;

(D) w1 a7 g (2) & 3 N H
(3) w9 T T (4) I F AT
Which of the following are not included in Revenue Tax Income ?
a. Indireet Tax b. Direct Tax

¢. Interest on Investment d. Punitive Income
Answer Options :

(1) Onlyaandb (2) Onlyaandc

(3) Onlybandd (4) Onlycandd

FreqT TTRTA SR / SPACE FOR ROUGH WORK P.T.O.
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qeid qmfi aT9e ‘ran’ @ faweha &

31. ‘qua ta pol ran’ § ‘I can rest here’ 9 wfdEqu a8,
% ‘polran sak no' 21 can sit there’ 3 TfoEqm 3.
i uiaear TeuiT A wig fasr,

gt I M

(1) Tousamend wea mifedt o1 gift omR.

(2) TEsaEdl wea mifEd = guEht o .

(3) Termpamme et o1 27ifor & gt oTR.

(4) foasharenet mfedt o1 ATor & gLl A

Decode ‘ran’ using the following data :

a. ‘I canrest here’is represented as ‘qua ta pol ran’.

b. ‘I can sit there’ is represented as ‘pol ran sak no’.

Select the appropriate correct option with respect to above process.
Answer Options :

(1) Information a alone is sufficient for decoding.

(2) Information b alone is sufficient for decoding.

(3) Information a and b is necessary for decoding.

(4) Information a and b is not sufficient for decoding.

71.

WEHT @@ AR qae 1 A 3 @ i wed g8 gweaner #Ri Hread fraw
U] A9 HORE TRE, U MINE] 1 9T IS STl TR geamt 45 Siwrer %
FEA T ARE 3 T qrarda gom=n o= G s s s e Heae

(1) SAWHT 1 =R FEom=an 31T} fareomen w1,

(2) 3RE 1 R T3U=AT AT Fereomrenr ToTa.

(8) HRE 1 & TEWTHT A ot 45 SrwmEn B

(4) SIRET 1 T TZ0T=TT 39wt feptomrsht 60 = HiH. .

Reflecting surfaces of three plane mirrors having square shape and identical sizes
placed perpendicular to each other, in such a way that mirror 1 and 3 are having
reflecting surfaces parallel to each other also exactly face each other, If a ray of light
is falling on mirror 1 at an angle 45 degrees then select the option that appropriately
describes direction of the ray coming out after reflection from mirror 3.

(1) Perpendicular to the incidental ray that falls on the mirror 1.

(2) Parallel to the incidental ray that falls on the mirror 1.

(3) 45 degrees angle to the incidental ray that falls on the mirror 1.

(4) 60 degree angle to the incidental ray that falls on the mirror 1.
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78. femien gframerdia adk weliqds sramar nft wate Jegn ARG @ T wEHE
wa Pferarg faen,

R et e dt T vl TR e | R FefT gy ada, o Siidier gesnmen

A W A argy gy 9. I Y FlN w@a: G S0 f 96 DA g @ e

WEHETAT AR

1) WA XA IR 9@ FW BE @ @ a9 ] ed, quft | B o shaiemaa
9 Tiefae T A S, Ao A9 W e TENEn doEvarEl e st .
T e fwaEea TS # e wlt J.

(2) T A IR AR W A WHiwe I gEE FIEr g oA, aunfy S W ik AW ®
A T wOEt wHE e WU A R WA o WA e A W Aen w6
AT YSRIEA A e TG BT A, TS H IR T A0 I e

(3) W R T vt Preravan taer & f WdEA 95 A, 901 W g areelt ®
TS AT T 9 e W aed. 0 & wEEEdt @ e A 3% weEn geaEe
e qig W N qrgan =whea forEmEdt 9o e S A el I9EEe S A
R |l JEaEAde S 91 e frpevay 9.

(4) WM A % A 2mgERm Greeht W W A B, wig M b nfor ssehbm
el T W AA I ABWTE WA Y. T e I A Fiest wm
E. TgvE Wt @ FF nfir TEEEm @R ST,

Study carefully reasoning of the argument given and select one from the options
arguments that uses closely parallel reasoning.

If T cook some special dish for dinner, my family members will be pleased. If I go for
the beach stroll I will be relaxed and pleasant. Today I prefer a pleasant me to
pleasant familyr members so I will go for the beach stroll.

(1) IfIdo overtime today I will earn more money. However if I spend time with my
family I will get relaxed. I need to get relaxed today than I need more money.
Therefore today I will go home to be with my family.

(2) IfI go out now I will enjoy cool and pleasant breeze. However, if I go out, T will
not clean my house, and if I do not clean my house I will have to live with dusty
and unhealthy environment to which [ am allergie. Therefore I had better not
go cut.

(3) IfI give tuitions every day at home I will be able to buy a smartphone. But if I
read books in the evening it will add to my knowledge and development. Right
now it is more important for me to earn my own money, but I will regret it if I
did not invest time for personal development. Therefore I will give tuitions only
ont four days in a week.

(4) I will eat that cake and ice cream to feel elated. But if I do not eat that cake
and ice cream I don’t need to burn calories. I don’t care about gaining weight
anymore. So I am going to eat that cake and ice cream.
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79. TH WU WG FEAG WG 94 A Afed e oo W HA A0 IHR IHEA
uftfeydta o aufeda aualt @ g9 wigit wr Tae ader 9 3d. IR OeAT, SeEe
THEHE Wie W, TR Al WO S [ el Sieien e Tege,
YHETd %o THG A9 WG Sell ST W sEd difeydia ong afe gl s @i
(1) 8 (2) b5 3) 4 4) 3
In a certain species of animal newborn female attains adulthood when it is two
months old and after this on an average gives birth to one new female infant after
every two months for five years in favourable conditions. If there is only one infant
female in the group as its mother, only adult female in the group, died accidently
after completing one month’s weaning period, select total number of females in the
group immediately after completion eight months in favourable condition.

(1) B 2) 5 3 4 4) 3

80. Felwdid FE AT G @9 H& IR FUETT AT HRT 9y A Toedraie e
IEdHT AT GEe TET A 49 AT, Ad FH1 TEia TR hoie i e e
AHA AT SR Saaed faue AT, W 9Ed FE fesie s s
vl e secare @fw qur sl foeue SREvarEn WS e HR. W st
wArnlE fieae saEs stadis W G Sicen AemTRET b WEe 5§ 398 AR,
ghie Fhrarerie i avfavm wate A faum feer,

(1) whews= famer=n eliadamm 7sr@ sar=e g,

(2) Fae svavar @ 9EE A IS s iU aTEe.

(3) Taomers w9 we et i SO ges /iy 39 .
(4) T SEima @ s9adm AT IR EEe AU 56 79,

Some recent films have been very expensive to make, but have not been the big
box-office hits that would have justified the expense, Also there are films made very
cheaply that have been received with both huge critical and popular acclaim. Indeed,
some directors who have made successful low-budget films have gone on the make
unsuccessful but expensive films. It is obvious then that if directors want to make
popular films, they should stick to low budgets.

Select the best statement of the flaw from following with respect to above argument.
(1} Critics are often wrong in their predictions about the popularity of films.

(2) The cost of making a film is normally greater than its original budget.

(3) The cost of a film need not be the factor that determines its popularity.

(4) The popularity of a film would justify a high level of expense in making it.
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81, W ‘wid Tl st avear wfi W Nwa @ @ faum 9% ole @t gdiw faumidedt
HIv {46 Tead= 2dr % Yo ?
(1) foig sh arear gd9m wia forenara.
(2) +E =R, T TEa Riekara, o ffr s,
(3) T =achl, w1 wrfa foreRam, o s aeam.
(4) w=h =R St W e & Folz =R

If the statement, ‘none but some brave win the race’ is false then which of the
following statements can claim to be true ?

(1) All but brave persons win the race.

(2) Some persons who win the race are brave,

(3) Some persons who win the race are not brave.

(4) No person who wins the race is brave.

82, v, 1M, UgA, Wiew T Aty Amed ufevr IR gEe shuTTER 3R ST HEd g1 wata
31 =fuET 39 R, = FERIE TR, (IER) TR IS wE 3N e wewn
H IS ?

3. galar AT UM 3 HATE IS 7 9 AR HiedsaT X IR
W, A & I 39 S Wy YAV gew I,

%, dfw @atd g e,

T I 20Tt iR qeEl oty o wrm iy e

Tt I

(1) wFa«

(2) %Fq F oo §

(8) W = fohar & anfr = Qe firegm

(4) haq & IO F

Among, Pravin, Ajay, Rahul, Socham and Tanish, Pravin is second tallest and Soham
is immediate taller than the shortest. Who among them is in the middle when they

stand in the order of their height ?

a. Ajay ranks third in height above Soham when all are standing in the order of
height.

b. Rahulis taller than Socham but shorter then Pravin.

c. Tanish is not the shortest.

Select option that is sufficient to answer question.

Answer Options:

{1) Onlyb

(2) Onlyaandb -

(3) Either b only or a and c both together

(4) Onlybandc
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83. A B, C,D i E 2 U™ €515 97T W Wear. d B, e, Fagdt snfor @it an
Qe Wedr. A diF4 We Wadl U0 gidhl Wesd AEl. B 3N E 7 W Wam 991 Fag Wesd
T, C anfer D syl Wesar. C TH @ Wedl 991 e 9 @l-@ Wesd T, D aF Wes
B! I @-@) Gd AL C A D THA W WiE @ @,

A 21fo1 B €2d A9He THH @ HIvd ?

(1) =agl, Biehl

@) Frre, wadl

(3) I, @@

(4) fo¥e, @il

A, B, C, D and E are five players playing different games. They play 4 games —
hockey, cricket, kabaddi, and Kho-Kho. A plays three games but not hockey. B and E
play three games but not Kabaddi. C and D play Kabaddi. C plays two games but not

cricket and Kho-Kho. D plays two games but not Kho-Kho. C and D do net play same
pair of games.

Which are the common games played by A and B ?
(1) Kabaddi, Hockey
(2) Cricket, Kabaddi
(3} Hockey, Kho-Kho
(4) Cricket, Kho-Kho

84, Trveg v wwtlt sweel 9R i TR g oda. W 12 T7ed 7 S @ amda, S 21
T T 93 e IR, T 20 TG 6 9 A ARd A Av 19 9T w7 wg FE@
aza. fyrdia freft <fg anda 2

(1) 26 2) 24
(3) 38 (4) 72
In a bag there are single colour balls with four different colours only. Excluding
exactly 12 all balls are blue, excluding exactly 21 balls all are yellow, excluding
exactly 20 balls all are red, and excluding exactly 19 balls all are green. How many

balls are there in this bag ?
(1) 26 (2) 24
(3) 38 4 72
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85, HuRd dEvid feameat et wrElt 62 R, IwER MW W O 20% Rrenetsf
woad 89 wm fiiht o W s 25% faenerth woed 36 AR, SWiewr Auedt
TapaTien farreatsan o TuEd gieemy waty fee,

(1) e 80
(2) 64
(3) 178

(4) 81

An average of group of students in achievement test is 62. Average of the 20%
students scoring highest score is 82 and that of the 25% students scoring lowest is
36. Select the option that indicates average of remaining middle percentage of
students. o '

| (1) Approximately 80
(2) 64
(3) 78
(4) 81

86. T gEY MR, TET GO WIFA YOS T ARG, S ...
(1) =
(2) W A
(3) W 9TE
(4) "R TS
I am a man. Dattu’s son is my son’s father. Dattu is...
(1) Myself
(2) My grandfather
(3) My brother
(4) My father
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87, UE TGN U I I Fefl AR, IoASAT SrHTen SR ATed FrEsT
o IS A JHAS AT S AT,
o IS 9ISF T SR THAEHAT A ATE.
o BIF g1 T M TRk SNIRT TR,
o T T AN 1 ATE AR,
o 3| R IoiEA 23 AnET oTR.
it I :
(1) AR IEH (2) o= (8) m& (4) <8

Six vehicles are parked in a single row as deseribed below. Select the vehicle that is
at extreme right.

° The vehicle on the extreme right is not the dumper.

. The motor bike and the dumper are not parked next to each other.

o The minivan and the car are parked next to each other.

e  Lorry is the 15t vehicle from the left.

e  Tempo is the 2" vehicle from the right.

Answer Options :

(1) Motor bike (2) Minivan (3) Car (4) Lorry

88, YN Rrumiear wguta dra Tt Fiae
foum 1(8) - (x x 0 = (y x y), W x Tl y ToH1 3.
faam 2 (S,) - 0 (x x x x x) = (y x y x y), T x FAHT TG 37 IMoheT y.
(1) 8,-¥; 8, - I (2) 8, - FEE; S, - T
(3) 8,3 S, A=A wwey (4) 8,9 8,3 ¥

Select the correct option with respect to following statements.

Statement 1(S;) - If (x x x} = (y x ), then x is always equal to y.

Statement 2 (S,) - If (x x x x x) = (y x y x y), then x may be always equal to y.
(1) 8, —true; 8, - false (2) 8, —false; 85— true

(3) Both S, and S, are false (4) Both S, and 5, are true
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89. Hr1 TR frewm o 25 felvah SR ey 12 ffe SRm dER. b Rasft R
4 Tafisaredi Sremer I@e st 15 ffR seew dEe. feh wer oo fed Rt @
3R ¥ iU W .
(1) 35
(2) 3
(3) 25
(4) 2
Nita walks from school to her house at 25 km/hr and arrives 12 minutes late. One
day she decided to walk at 4 km/hr and arrived 15 minutes earlier. Select the
number indicating how far her school is from house in km,
(1) 35
(2) 3
3) 25
4) 2
90, O 7 vdiE yaS famefi ww wm g wFg 9. us 30 formff I wdww wegn

AT . F 31 Tl e wdwvr pesiamn AFg dard onfor Awes peataEr e A
YurTgas faemeff g e @GN AR YA, e 37 Wag TE Aasl gehr
AHZ oo, T et 39 Ieoie 7 FEEH TR FEE WS g U A g W

(1) @@ 9Wg T S fyeneat=n e g,
(2) TewieraT ML T Ui fameie e o we.
(3) wHEgNE AW T Qo= faaneat=a G Y=EwW GEAT.
(4) e wem Wivaa sugmEd ane gt .

Every student of class 7 enjoys only one sport. Excluding exactly 30 students all
enjoy kabaddi, excluding exactly 31 students all enjoy football, excluding exactly
same number of students who don't enjoy football all enjoy kho-kho and exactly
excluding 37 students all enjoy hockey. No student enjoys any other game that is not
mentioned here. Select the most appropriate option that indicates number of
students who enjoy hockey.

(1) Half the number who don’t enjoy kho-kho.
(2) One-fifth of number who don’t enjoy football.
{3) One-fifth of the number who don’t enjoy kabaddi.

(4) Data in insufficient for deciding the exact number.
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91. el R fegm @ @ demmT Tsarea @it wifia i g e 7

(1) TeE (2) WA

(3) wfeeh 4) EH

Which of the following districts has its least boundary with the State of Telangana ?
(1) Nanded (2) Yeotmal

(3) Gadchiroli (4) Chandrapur

92. QA Fvr/pE fum/fra st T 2
H. QO AT FEHEAR Feqia & R T4 Mesamn.

W et ST AR A% SU-Swehies Yy i 9 ieesard.
®. N9 IW HiHW foumma Wi yHTR seEdry.

Tt I ;
(1) wed foam 1 (2) wad feum =
(3) wad foum & afor 5 (4) ad foum ¥ anfor &

Which of the following statement/s is/are not correct ?
a.  Dry thorny forests are found in Pune and Ahmednagar districts.
b.  Subtropical evergreen forests are found at Panchgani and Matheran.

c.  Anjan trees are found in Konkan on large scale.

Answer Options :
(1)  Only statement a (2) Only statement c
(3) Only statement cand b (4) Only statementb and a

93, ST 2011 SO, WAedht sioen fream diehEEE 20 A SR JR ?

(1) Wt (2) ST

(8) IgaWT® (4) adi

As per the Census 2011, which of the following district has a population more than
20 lac ?

(1) Parbhani (2) Akola

(3) Yeotmal (4) Wardha
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94. Fhien o= sfém wiviar faesn ang ?

(1) getemon (2) AU
(3) =i (4) am
Which district is located to the South of Akola district ?
(1) Buldhana (2) Amravati
(8) Wardha (4) Washim

95, @i Rrat <=1 3 w39 FHAR e

. WS ¥, HahIN
F.  Hed . T
g I ;

(1) 3,9,%,% (2) #,9, A, (3) 9,3, 4 B, 31,97

Arrange the following peaks in descending order as per their height.

a. Pratapgad b. Trimbakeshwar

c. Salher d. Sirsala

Answer Options :

(1) a,b,c,d (2) e¢,b,ad 3) b,c,a,d (4) d,ab,c

H,  SAHUE €. A
&. AT HHAT
oot I

1) #H,9, 35,3 (2) A,%,9, % 3 %9 %, 4) 9,3, 8,%

Arrange the following places in descending order regarding rainfall.

a. Amravati b. Nagpur

¢. Alibag d. Solapur

Answer Options ;

(1) a,b,c,d (2) a,c, b d (3) ¢, b,ad (4) b,a,d, ¢
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H. IR
5. W
&, Sl
g W
it IW
A q
(1) IV In
(2) 1 II
(3) I v
4 II I
Match the following :
District
a. Solapur
b. Latur
c. Jalna
d. Beed
Answer Options :
a b
(1 IV 111
(2) I IT
(3) III v
(4) 1II I

II
ITI
II

IT
I11
I
v

46

FTGHI
1. TeUg
II. w31

Iv. wahrE

-4

I

\Y

I

II1

Taluko

L (Georai
II. Mantha
ITT. Shirur Anantpal
IV. Malshiras

d

I

v

I

111
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98, FITEIY T T Iiqr TR |1E AR

(1)
(2)
3)
(4)

(1)
(2)
3)
(4)

A
rareft
T
e

Ghat is in between Kolhapur and Kudal.
Ambenali |
Amboli

Hanumante
Amba -

c12

99. wHEq, o, quiantr _ # wouoll freee args SR

(1)
(2)
3
(4)

Manvat, Selu, Purna and

(1
(2)
(3)
1)

it
FERd
HUN
It

Sonpeth
Basmat
Kandhar

Unmnri

are the talukas in Parbhani district.

100. 2011 =0 FOR Y, EE IR Rgre AP gas fed om 2

1
(2)
(3)
(4)

100%
95%
80%
85%

What i3 urbanisation level of Mumbai suburban district as per the 2011 Census ?

1)
(2)
(3)
(4)

100%
95%
90%
86%
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Il — (qo1awm..)

(8) wyferre fRfgr Seew fafire 9rfa +1 Fm (6 9%) 0. TFgfcrsafiie IaWEFR a1 S0
FIRER %A HH Foaid § Hid Far RIE be IR, JW AW TR & FHIR INGETET e
IE Feew vhgme go=n hymw Ty weaeEes afufEm-g2” Fdid "gdgan FReE
FA A3 9 N o) FHIH Uk qErSH] HITETRAT A /TR v U g9 A dere R
I B,

(@) W FebEad e fafin SR I Avearm Sicawen # TR At TR
U3 WG WEET AR, AT TTEyTETR ToagE! SREEWE Sedr WAt Wm-1
R g A R we w0 A .

H. &, 201.

¥. . 201.

oill U
Tl =TT T HOIETS! o qoa: Taw s ?
(1) anft e aweEd () dvaveg faamTR
@ T TR 0 (4)  TTeHT Mgt
TR 3 I (@) T TRET Ga S8 AR, e 41 T It (@) dite.
AT GAETET T %, 201 FNGE SEEEE (@) @ T4z it srfhed wed
ZTERE ETEE AR,

© ® @ O

AW g WA Tyl Yoid WIS g IO B gRera st yiase
T AT TS AfeR Ao, Of e ar W O aaE .
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